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Note: Figures to the right indicate full marks of the question.

TOTAL MARKS: 70

Q-1 (A) Explain the concept of multiplier with the help of differentiation. Narrate the usage of differentiation 10

in economics.

(B) The total cost function and demand function of a firm are C = % x3=7x? +111x + 50 and X=100-P 08
respectively. Then find out (1) total revenue function in terms of *X’, (2) level of output for

)
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(iii)
Q-3 (A)

(B)

maximum profit, (3) maximum profit and (4) price of a commodity ‘X",

OR

State the conditions to find out extreme values of the function using partial differentiation and total

differential.

Discuss the various rules of differentiation,

The demand functions of a producing firm are X=5200-10P4 and Y = 8200 - 20 Py and the joint cost

. . 2 c ey
of production is C = 0.1X" + 0.1XY + 2Y2 +325 . find out the profit maximizing level of output,

prices and profit.

Give the meaning of correlation. Discuss the types of correlation with the help of scattered diagram

as well as coefficient of correlation.

Find out Karl Pearson’s coefficient of correlation between the value of ‘X’ and ‘Y* given below,
calculate the probable error and interpret the result.
X | 78 18 | 9 | 69 [ 59 [ 79 [ 68 [ 61
Y 125 | 137 1 156 | 112 | 107 [ 136 | 123 | 108
OR

Discuss the usage of correlation in economic analysis. Distinguish between correlation and

regression,

Ten competitors in a elocution competition are ranked by three judges in the following order:

Judge- | 1 6 . 1:38 3 2 4 9 -1 7 8§ |
. Judge-2 R T 7 10 | 6 | 9 |
| Judge3 6 ] 4 | iy 1 2 31 10 5 |7

Use the rank correlation coefficient to determine which pair of judges has the nearest approach to

judge the competitors.

Write a brief note on probable error.
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Explain the concept of association of attributes and discuss the various types of association of 09
attributes. Narrate the uses of association of attributes in economic analysis.

The marks obtained by ten students in economics and statistics out of 50 marks are given in the 09
following table. Using these data find out (1) two regression coefficients, (2) two regression
equations, (3) the marks in Statistics when the marks in Economics are 30 and (4) coefficient of
correlation.

Marks in Economics [ 25 [ 28 [ 3532313629 | 38 | 34 | 32 |
Marks in Statistics | 43 | 46 | 49 | 41 [ 36 [32[31[30[33]39
OR



(i)  Describe the causes responsible for emerging the error in regression. 07

(ii) Explain the concepts of regression, coefficient of regression and regression line. 06
(iii) For below given information, calculate Yule’s coefficient of association of attributes. 05
Adult population 600
Number of employed 240
Literate employed adult population 80
Number of literates 200

Q-4 (A) Which is the ideal method of construction of index number? Why? Discuss the uses and limitations 09
of index number,

(B) Find out the index number using formulas of Laspeyre, Paasche, Bowley, Marshall-Edgeworth 09

and Fisher. _
Commodity Price | Quantity |
20112016 [2011[ 2016 |
A 2 | 4 138 6
B 5 16 110 5 |
C [ 47514 0
D 1212719 13 |
OR
(i) Define the index number and discuss the construction of index number in detail. 08
(ii) Using the following data regarding the budgets of middle class families, find out the cost of living 04
index. :
Expenses | Food | Fuel | Clothes | Rent | Miscellaneous |
35% | 10% | 20% 15% 20%
| Price (in 2001) | 100 | 40 | 200 | 150 20
Price (in 2016) [ 185 | 60 | 750 | 3500 | 50
(iii) Write a detailed note on test of indices. 06
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